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Two forces of 5:0 N each are acting on a point
mass. If the angle between the forces is 60°,
then the net force acting on the point mass
has magnitude close to :

(a) 86NV

(b) 43N 4

(¢) 50N # AKX @S 6 = /0 00¢ 3p°
(d) 67N

> JonfB = 0F = 55 FF32 ~ $.460
2

AAAT
St
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Two forces of 5:0 N each are acting on a point Answer: A
mass. If the angle between the forces is 60°,

then the net force acting on the point mass

has magnitude close to :

(a) 86N
(b) 43N
() 50N
d) 67N

EXAMS
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A vehicle starts moving along a
straight line path from rest. In first ¢

seconds it moves with an acceleration S——-—-S,' ~ 5m Az
of 2 m/s? and then in next 10 seconds A ' el 7 ‘6
it moves with an acceleration of @ —3,
5 m/s2. The total distance travelled by 4 =0 y 7
the vehicle is 550 m. The value of 4 - 04 {2)1.
time 7 1S
(a) 10s /}B 1/ , 29 [‘
Z % =2t + (5)[)

o 20 V-u" < 205; ’
c S . =
(d 25s 2)—-—0 :2/2,)(5,) —

2

VI :_ Kga - 2452 SZ = o?DD[' + 2500

5 = ¢ 7

L —

YA

fo

VA
(szfo} L-—(zt‘/ =2(5)-‘z $ = 2ol + 250
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§ + 8 = 560

t5+ 20f 4250 = 550
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A vehicle starts moving along a
straight line path from rest. In first ¢
seconds it moves with an acceleration
of 2 m/s? and then in next 10 seconds Answer: A
it moves with an acceleration of
5 m/s2. The total distance travelled by
the vehicle is 550 m. The value of

time 7 1S
(@) 10 s
(k) 13 ¢
(c) 20s
(d 25s
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The Area Under Speed-time Graph Gives :

A. Acceleration
B. Velocity

C. Distance
D

. None of the Above

n e
4“& - - d%;.C aYGMQJ}Y X L-ax/s & X 2)
T [/

170

‘)

fime X% W/acffy
= frte) dehne
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The Area Under Speed-time Graph Gives :

A. Acceleration
B. Velocity
C. Distance
D

None of the Above
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If an object moves with constant
velocity then which one of the following
statements 1s NOT correct ?

(a) Its motion is along a straight line
\}a) Its speed changes with time. o
(c) Its acceleration is zero

(d) Its displacement increases linearly
with time

Consfant Velo c/'?«,

a/f:f ,

/\

K/eeq’ divekion
(onfa)) (0o f)
Ik

g/f)f(’ =

time

()
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EXAMS

If an object moves with constant

velocity then which one of the following
statements 15 NOT correct ? Answer: B

(a) Its motion is along a straight line
(b) Its speed changes with time .
(c) Its acceleration is zero

(d) Its displacement increases linearly
with time
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An object moves along a curved path. The following quantities may remain

constant during its motion.

A. Speed V*

B. Velocity « direchon af evary
C. Magnitude of Acceleration fﬂ}nf f¢ G/DW e
D. BothAandC

fa V") I
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An object moves along a curved path. The following quantities may remain
constant during its motion.

Speed

Velocity

Magnitude of Acceleration

Both Aand C

oo ®»
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An object 1s moving with uniform
acceleration a. Its initial velocity is # and
after time ¢ its velocity is v. The
equation of its motion is v = u + at. The
velocity (along y-axis) time (along x-axis) ‘r

graph shall be a straight line
(a) passing through origin K hefo c"f [ Voutak
| . v )

(b) with x-intercept u ( ) / } (u) .

; il ‘ 0 7"
(c) with y-intercept u ((7 - mfna/p/'] Sbe

' (¢

(d) with slope u aCCC/CTa Hjﬁ = S/g ¢ 9% V. t - un ;ﬁrm ? Sfrardﬁf'

(0) dra f/) (e
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EXAMS

An object 1s moving with uniform
acceleration a. Its initial velocity is # and
after time ¢ its velocity is v. The
equation of its motion is v = u + af. The
velocity (along y-axis) time (along x-axis)
graph shall be a straight line

(a) passing through origin
(b) with x-intercept u
(c) with y-iﬁtercept u

(d) with slope u

Answer: C
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Consider the following velocity and time
graph :

Velocity T

(m/s]

'
|
L i )

Which one of the following is the value
of average acceleration from 8 s to 12 8?7

fa) 8 m/s?
) 12 m/s?
e} 2 m/s®

{d) -1 m/s?

vB—\_-
al o B . acch

= C/)ai)”(, n VQ/MI'#

" v

cha)'y( n Time

= (/’/"m/ - fm'{/;//#_
fime

o 4_9) = —9
iR -8 /

EXAMS
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Consider the following velocity and time

graph :
Velocity T
(m/s)
8 '

'
'
: .l )

Which one of the following is the value
of average acceleration from 8 s to 12 s?

fa) 8 mjs®
) 12 m/s?
¢} 2m/s*

{d) -1 mjfs? Answer: D

&=

EXAMS
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EXAMS

A car starts from Bengaluru, goes 50 km in a
straight line towards south, immediately
turns around and returns to Bengaluru. The
time taken for this round trip is 2 hours. The

magnitude of the average velocity of the car

for this round trip i

(@ iso. J,g/,/, emenf =0
(b) is 50 km/hr. d v‘ Ve/ﬂqofi - 0

(c) is 25 km/hr.

(d) cannot be calculated without knowing

acceleration.



NDA & CDS 1 2025 REVISION - LIVE CLASS - PHYSICS - MOTION

@

EXAMS

A car starts from Bengaluru, goes 50 km in a
straight line towards south, immediately
turns around and returns to Bengaluru. The Answer: A
time taken for this round trip is 2 hours. The

magnitude of the average velocity of the car
for this round trip

(a) 1s0.
(b) is 50 km/hr.

(c) 1is 25 km/hr.

(d) cannot be calculated without knowing

acceleration.
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]
0 2(_, XB WA X

The figure shown above gives the time
(f) versus position (x) graphs of three
objects 4, B and C. Which one of the

following is the correct relation
between their speeds ¥V, ¥, and ¥,
respectively at any instant (z > 0) ?

() Vy<Vp<Ve
() V> V>V,
(©) V,=V,=V =0
@) V,=V,=V.=0

peed = difana (7)
(V) time (¢

For Some vo/ues of £,
dvm?ﬁ'r Xx = ﬁmaﬁ)’ V,

xA b Xg? Xe

h 7 %ol
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EXAMS

A

Answer: B

o) o
The figure shown above gives the time
(f) versus position (x) graphs of three

objects 4, B and C. Which one of the
following is the correct relation

between their speeds ¥V, ¥, and V,
respectively at any instant (z > 0) ?

(@) V<Vy<V.
(b) Vy>Vg>Ve.
() Vy=Vg=Vo#0
(d) Vy=Vy=V.=0
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EXAMS

A
V ‘
(Velocity) A\ /D
Vfpes* - ’
, y’...,z[_ﬂ Cﬁ opaﬂ! BC = o cj)av( o VQ/MIO . ”0
/ O# ¢ d Jo I —
Velouty /¢ decreading Inereadsn a ’
v v » f ecefe rﬁn
. ) (@) CD and BC
[n the given velocity (V) versus time (f)
graph, accelerated and decelerated (b) BC and AB
motions are respectively represented by
line segments (c) CD and AB /

(d) AB and CD
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EXAMS

A
V .
(Velocity) A D
\ Answer: C
' B G
>
.t
, (time) (@) CD and BC
In the given velocity (V) versus time (/)
graph, accelerated and decelerated (b) BC and AB
motions are respectively represented by
line segments (¢) CD and AB

(d) AB and CD
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A tennis ball is thrown in the vertically
upward direction and the ball attains a
maximum height of 20 m. The ball was
thrown approximately with an upward
velocity of

@ BmE o gt
(c) 16m/s

/4! rer{fwlf Upay g = 9°
(d) 20 m/s d i d’

40 = Ulf/ohzqﬂi_ =y aa‘ = 20 220

%10 (= AO még/j
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A tennis ball is thrown in the vertically
upward direction and the ball attains a
maximum height of 20 m. The ball was Answer: D
thrown approximately with an upward

velocity of

(a) 8 m/s
(b) 12 m/s
(¢) 16 m/s

(d) 20 m/s
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A uniform motion of a car along a circular

path experiences

(a) achange in speed due to a change in its
direction of motion. 4

(b)  a change in velocity due to a change in
its direction of motion. v/

() a change in momentum due to no

change in its direction of motion. A Uny /B’rh) S)OCQ4

(d) a constant momentum due to a change

in its direction of motion. ¢ ”’Omofum = mags X VC/DC/?‘
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EXAMS

A uniform motion of a car along a circular
path experiences

: . Answer: B
(a) achange in speed due to a change in its

direction of motion.

(b)  a change in velocity due to a change in
its direction of motion.

() a change in momentum due to no
change in its direction of motion.

(d) a constant momentum due to a change
in its direction of motion.
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Which one of the following statements
about speed and velocity is correct?

(a) Speed and velocity both are vector
quantities.

(b) Speed and velocity both are scalar
quantities,

(c) Speed is vector quantity and
velocity is scalar quantity.

(d) Speed 1is scalar quantity and
velocity is vector quantity.

EXAMS
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EXAMS

Which one of the following statements
about speed and velocity is correct?

Answer: D
(a) Speed and velocity both are vector
quantities.

(b) Speed and velocity both are scalar
quantities,

(c) Speed is vector quantity and
velocity is scalar quantity.

(d) Speed is scalar quantity and
velocity is vector quantity.
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What is the nature of velocity-time
graph for a car moving with uniform

acceleration?
f A
(a) Parabola y \__ a = Gnefanf = g/p/oz
(b) Logarithmic | ]
—

(c) Straight line

f — ffm/&hf Ine.

(d) Exponential
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EXAMS

What is the nature of velocity-time
graph for a car moving with uniform
acceleration? Answer: C

(a) Parabola
(b) Logarithmic
(c) Straight line

(d) Exponential
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Ram records the odometer readings of
his car for the distance covered from
2000 km at the start of his journey

and 2400 km at the end of the journey
after 8 hours. What is the average

speed of the car?

(@) 50 km/h Disfance 7Lrawz//¢4 >~ QY00 - 2000
(b) 60 km/h

(© 70 km/h =0

(d) 80 km/h

A !/)m/ i 4’;__" = 5 fmff

( avf- Spred = Tofaf alf'rfmfg)
lofal fime
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EXAMS

Ram records the odometer readings of
his car for the distance covered from
2000 km at the start of his journey
and 2400 km at the end of the journey
after 8 hours. What is the average
speed of the car?

(a): 50 km/h
(b) 60 km/h
(c) 70 km/h
(d) 80 km/h

Answer: A
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Which one of the following graphs
represents the equation of motion
v=u + at; where all quantities are
non-zero and symbols  carry their
usual meanings ?

9 ©
g &
o @
0 time(s) ¢ A v > 0/ ayo
iy (@ Uy o J

distance (m)
distance (m)
A\

0 time(s) 0 time()
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EXAMS

Which one of the following graphs

represents the equation of motion

v=u+at; where all quantities are Answer: D
non-zero and symbols  carry their

usual meanings ?

(a)

~
()
N’

distance (m)
distance (m)

0 - Hmets) 0 tme(d)

e

distance (m)

distance (m)

(d)

0 time(s)

0 time(s)
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A stone is thrown horizontally from the top of
a 20 m high building with a speed of
12 m/s. It hits the ground at a distance R from

u
the building. Taking g = 10 m/s? and 7’
neglecting air resistance will give : H
(a) R=12m
L1
(¢ R=24m A=

(d R=30m 7:\/_2_’/_1’_—
R= ul-= /.?;;/2)!20 =12)Y2:@
T
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EXAMS

A stone is thrown horizontally from the top of
a 20 m high building with a speed of
12 m/s. It hits the ground at a distance R from Answer: C
the building. Taking g = 10 m/s® and

neglecting air resistance will give :

(a) R=12m
(b) R=18m
(c) R=24m

(d) R=30m
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A person travels distance mR along the circumference of a circle of

radius R. Displacement of the person is

A. R
2R
B. 2R 2
C. 2R
P R
D. 0 —




NDA & CDS 1 2025 REVISION - LIVE CLASS - PHYSICS - MOTION

==

A person travels distance nR along the circumference of a circle of radius R.

Displacement of the person is

A. R
B. 2R
C. 2R
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17. The distance — time graph of a body moving along a straight path in a

o 0 ® »

single direction with uniform speed will be

Along X — Axis & "

A line with +ve slope v~ f ng“’Efbf Line.
Parallel to X — Axis x d/Sfanee \ A cped i an/}(wm
None of these /D /

!/O/De £ +Ve
and onsfan)—

[ |
Time —



NDA & CDS 1 2025 REVISION - LIVE CLASS - PHYSICS - MOTION

17. The distance — time graph of a body moving along a straight path in a single
direction with uniform speed will be

Along X — Axis

A line with +ve slope

Parallel to X — Axis

o 0 @ »

None of these
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A particle is moving in a circle of radius R
with a constant speed v. Its average
acceleration over the time when it moves over

half the circle is : " . ' P
04 acclerafiop = change I Ve/ou_a?g

vZ
{3.) R 0
R 7}/'0{ fa/fer)
2
b
9R y ("V)

2‘-’2 ZTK 0
© = ) Mﬂm/ua/e.

2v*
-Zv(v) . -2t/ 7R

e ———

TR R

)
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A particle is moving in a circle of radius R
with a constant speed v. Its average
acceleration over the time when it moves over
half the circle is :

2

(a) i
2

Answer: C

v
2
n
(b) R
pAs
R

d 0

(c)
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A motorcyclist drives from place A to B with a uniform speed of 30 km h!

and returns from place B to A with a uniform speed of 20 kmh-1. Find his

average speed.

A.

B
C.
D

12 kmh-1
6kmh-L o 7“4 = 2N V’;,_("’/’fn di'fanee Trovelled are
m
TtV !anoa)
24 kmh™!
. 10 kmh™ = Ax30x20 /200
20 420 50

= 24 ém/{
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A motorcyclist drives from place A to B with a uniform speed of 30 km h!
and returns from place B to A with a uniform speed of 20 kmh-1. Find his
average speed.

A. 12 kmh'

B. 6kmh1
C. 24 kmh'
D. 10 kmh'
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Starting from rest a vehicle accelerates
at the rate of 2 m/s® towards east for
10s. It then stops suddenly. It then
accelerates again at a rate of 42 m/s?
for next 10 s towards south and then
again comes to rest. The net displace-
ment of the vehicle from the starting
point 1s

(a) 100 m
(b) 200 m
(c) 300 m
(d) 400 m

[@i=]
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Starting from rest a vehicle accelerates
at the rate of 2 m/s® towards east for
10s. It then stops suddenly. It then
accelerates again at a rate of 42 m/s?
for next 10 s towards south and then
again comes to rest. The net displace-
ment of the vehicle from the starting
point 1s

(a) 100 m
(b) 200 m
(c) 300 m
(d) 400 m

Answer: C

[@i=]
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Average velocity of an object is
equal to the mean of its initial and
final velocities, if the acceleration is
(a) uniform

b) variable

¢) Both (a) and (b)

d) None of these

(
(
(
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Average velocity of an object is
equal to the mean of its initial and
final velocities, if the acceleration is
(a) uniform

b) variable

¢) Both (a) and (b)

d) None of these

(
(
(

Answer: A
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If the displacement of an object is
proportional to square of time,
then the object moves with

(a) uniform velocity

(b) uniform acceleration

(

(

¢) increasing acceleration
d) decreasing acceleration
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If the displacement of an object is
proportional to square of time,
then the object moves with

(a) uniform velocity

(b) uniform acceleration

(c) increasing acceleration

(d) decreasing acceleration

Answer: B

[@i=]
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A body goes from P to @) with a
velocity of 40 ms™" and comes
back from ¢ to P with a velocity of
60 ms™". Then, the average
velocity of the body during the
whole journey 1s

(a) 50 ms™ (b) 48 ms™"

(c) 45 ms™" (d) zero
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A body goes from P to @) with a
velocity of 40 ms™" and comes
back from ¢ to P with a velocity of
60 ms™". Then, the average
velocity of the body during the
whole journey 1s

(a) 50 ms™ (b) 48 ms™"

(c) 45 ms™ (d) zero

Answer: D
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The area under acceleration-time
graph represents

(a) velocity

(b) displacement travelled

(c) distance travelled

(d) change in velocity
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The area under acceleration-time
graph represents

(a) velocity

(b) displacement travelled

(c) distance travelled

(d) change in velocity

Answer: D
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A man travels along a straight
road for the first half length with
a velocity u and the second half
length with a velocity v. Then, the

mean velocity 1s given by

(a) U+ v () 2LV

2 U+ v

(C) Juv (d) zero
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A man travels along a straight
road for the first half length with
a velocity u and the second half
length with a velocity v. Then, the
mean velocity 1s given by

@) : ; : ) ugivv
(C) Juv (d) zero

Answer: B



NDA & CDS 1 2025 REVISION - LIVE CLASS - PHYSICS - MOTION

Which one of the following
characteristics of the particle does
the shaded area of the velocity-time
graph shown below represent?

Velocity

0 Time

(a) Momentum (b) Acceleration
(c) Distance covered (d) Speed

[@i=]
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Which one of the following
characteristics of the particle does
the shaded area of the velocity-time
graph shown below represent?

Velocity

0 Time

(a) Momentum (b) Acceleration
(c) Distance covered (d) Speed

Answer: C
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O A B C

O—H—+—+—+—+—+—+—+—+ meter
10 20 30 40 50 60 70 80 90 100

The motion of car along a straight

path is shown in above figure. The

car starts from O and reaches at

point C, back to point A. The

distance and the magnitude of the

displacement are respectively.

(a) 160 m, 40 m

b) 190 m, 50 m

c) 120 m, 40 m

d) 140 m, 100 m

(
(
(

[@i=]



NDA & CDS 1 2025 REVISION - LIVE CLASS - PHYSICS - MOTION

O A B C

O—H—+—+—+—+—+—+—+—+ meter
10 20 30 40 50 60 70 80 90 100

The motion of car along a straight

path is shown in above figure. The

car starts from O and reaches at

point C, back to point A. The

distance and the magnitude of the

displacement are respectively.

(a) 160 m, 40 m

b) 190 m, 50 m

c) 120 m, 40 m

d) 140 m, 100 m

(
(
(

Answer: A

[@i=]
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Which one among i

the following > / B
situation 1s best S[A
represented by the = .
velocity-time graph O ETED (t)—

shown alongside?
(a) velocity changes by equal amount
b) slope of graph is zero.

c) slope of graph is negative

d) None of the above

(
(
(
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Which one among i .
the following =

situation is best ?55: A/
represented by the = .
velocity-time graph O ETED (t)—

shown alongside?
(a) velocity changes by equal amount
(b) slope of graph is zero.

(c) slope of graph is negative

(d) None of the above

Answer: A
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Which statement is true for
shown graph?

Uel::rcity/

O Time

(a) Acceleration have positive and
constant value

(b) Initial velocity of particle is negative
(c) velocity of particle is constant
(d) None of the above

[@i=]
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Which statement is true for
shown graph?

Uel::rcity/

C Time

(a) Acceleration have positive and
constant value

(b) Initial velocity of particle is negative
(c) velocity of particle is constant
(d) None of the above

Answer: A
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